Adnig > too wore lecturtg
C@’Vl\/olwb:% 'Fdl/‘ M7n}<04~4[)<f Sun 8 H\/\} 5 ? ('QL!o/tB

>
Fréchet distance(s)

Funal exaom?

Minkowsk? Svne A—-&E :‘-zaff-b 8 ae—Aulae-B—g

ot fa— ?l%m:ﬁ/ collTeiom detectro v
via W’;-‘ﬁx\ra'b;cw\ 6?3(_‘6

e A sl B @~ comwex — mege, ecﬁci D[wva tive
= A—-\-B a‘so CSrIER

o A and B ae onceavex

— A« = nbtd ~vetls <\x0(n}
D UE s e <\/ < Ol

=t A+ LR
D(mrz.,?'} Eme ONO(W\B

—> d»eco./n))oéc A—*D "wbo convex j)fecc’$

At = _L),CAH’@:)\

v
— COﬂVO’M’bTO/) A—* B
“ Suppose
= 8,9 . 2.

A+E\ Bz by by --n b

> are S?W\?\c fFol/\7 Qo>

The convoltior A% B is 2 directed
”3”&13\'\ witin f;»-o'/;7,>c$ o-PecBCS!
) (&L'—")ai’.\.i\ ‘*"bj ’E’?r all E,j Cueln U-a'(:

§< b\,’“-g'—" ‘03 ’ Btﬁac-f:j b.j "5'6-,‘.1_ Ccw ﬂfd@‘
e W r (l;;) ~3\931-1\ swch tat -

O[m mB € dc\fs 2r-1 > ; b\)' - bJ‘_g, ) ai—}'@c«-y/ CCw o-der




Al
<

3§> :

A @
@80

A'*B % dnrecbed s‘[‘/‘a« ln'b"“w\ecﬁr
l-"atzgee ——ovﬂ'/dz&r% /\o'\; nuessafnw awmec'LCJ'

ech LOVV\;ZV"&"’-\; o BExlecian
At = sl poite whhett Ax S y,b, ;
Qt'bﬁfﬁ A~ vu:]—.

Oln~ma kN b«me [6uibas fdel_—]

x{}@



Efé chet drstance

%
\

erﬂﬁ[v_o M'} . )‘BZ a
Q 1O,n\ —> fles i\
Al B) = dst(Pls), @[t%

haoman walks Aena P ok bk
d‘gﬁ ke 94%55& /W\'b'\ 1 by )

Fréc et (7 Q')‘— (‘ﬁ’\:\; ‘e}%lx) \ 9 —e¢— T
p’mmo'toV:e Fa‘t’/\—ﬂl L\

'F'Q;Z—"amatg/‘ sRace

O,mj ZO:V\J
F/‘t’rblf\ﬂt':—m N AL A[g;t)

T GBer
Stat: Digerete Fréchet distonce

—
-~
e

At esch 67'7@]>; d;g 2nd fo Mvmaes

nove 3‘0!30149 5(5@_ _ ' T
MTATMIZ  max veten- to ~vetex deslance ‘ |
/
s ‘ 4 ~
Mmta mar Fk.t[" T Varamnfc/ dag — 17 P
- 00) bo (w m} g / /,
S (r ) 9 ] Z/l/ [ ‘ \ \

DF (t)= max(Aky) o DEL L

DE(R,5¢d
w via d/yw ;g(w-ijd—3>>

o-—o:_//-.:_’o_——;e'—o-—o—t’)*——o—-w B\:\; J:G'taw&e, 9 [0 %) dS
o © o Ofscre tiration oF tre

tie, wot jest Teir




Te Freched (FAES7

F‘?f‘S’t CO’V\Q?A'U L‘lb[ (ase

et P ovd f are Sequments

Le,mma“ Free space T T covwexl

6 e e F E(PL), QN2 S

1o tene 2 Pre,e imomotane Fa‘t‘!—\
integetion oF 1Y oo 60) to (2,2)7
\,—-_UII \-ﬂ'bf/‘ 9 O'F e[\ ?¢€_

.% R
hs e gaﬁl-?ne = [rrenr +trans)ation
Q: =) = ME _
2. 7
Ale. Y= Pl -Q(L) D)
A:IE—=RE sffue |
(5. 3 Free HE [8lD)4S 3 |

prefmage A (8o l)) 5e d)ﬁpﬁwlz’sk N

Moregw&ral\/\,, Com-rgmwylﬁm 5]75(:-e TS v X érT

Free spoce TS O NVEK Teneide each cell







[ BON ] two-paths.ipe

. Open Save Free Space Separate Curves Show Bounds

&€= 130

Curve

@ OK Optimise

Approximate

Polygon

k-Fréchet




